PHY 820 Homework Set 1

1. [5 pts] A string is wrapped around a uniform homogeneous cylinder whose radius is
r and mass is m. The free end of the string is tied to the ceiling and the cylinder is
allowed to fall, see the figure, starting from rest. As the string unwraps, the cylinder

rotates.

(a) What is the linear acceleration of the center
of mass of the cylinder?

(b) What is the tension in the string?

(c) What is the linear velocity of the cylinder af-
ter it has dropped down a distance h?

2. [5 pts] Goldstein, problem 1.3.

3. [10 pts] Goldstein, problem 1.13. The escape velocity is given in 1.12 and the velocity
of the exhaust gas is actually v = 2.1km/s.



